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AQA AS Business Studies

3 Other aspects of planning

a Venture capital is finance advanced to relatively high risk business proposals (1 mark) in the form of share capital and loan capital (1 mark).

b Answers may include the following:

· The business is seasonal (60% of sales will be between May and August) and temporary staff will help to meet this pattern of demand without incurring all-year costs.

· Ian and Sarah have never employed anyone before – hiring temporary staff is a safer option for if their choice is poor, they will only have to employ them for a fixed period of time.

· Temporary staff may be cheaper and keeping costs to a minimum is vital for a start up business.

	Level 3
	Good application
	5–6 marks

	Level 2
	Good knowledge or limited knowledge plus reasonable application
	4–3 marks

	Level 1
	Limited knowledge
	2–1 marks


c Answers may include the following:

· Yes, the couple were able to raise venture capital by selling shares, which is only possible because it is a company.

· Yes, this is a high-risk business and it will also be the family home – it may be possible to protect their home if the business fails.

· No, this involves the couple in more administration which may increase their costs – for example they may need to employ an accountant to prepare the company’s accounts.

· No, selling too many shares to raise venture capital may result in the couple losing control of the business.

	Level 5
	Good analysis and good application
	7 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	6 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


Evaluation: there is a strong case for starting this business as a private limited company. The level of risk is indicated by the decision to raise venture capital and it would be important for the couple to benefit from limited liability.

	E3
	Judgement with well supported justification. Answer has a logical structure throughout, with effective use of technical terms.
	4–5 marks

	E2
	Judgement with limited attempt at justification. Evidence of a logical structure and some use of technical terms. 
	2–3 marks

	E1
	Assertion or judgement which is unsupported. Reasonable evidence of a logical structure and little use of technical terms. 
	1 mark
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